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1] Choose the correct option

(1x15=15)

a-b b-c c-a

1. |x-y y-z z-x|isequalto:
p-q9 q-r r-p
@alx+y+2)+b(P+q+r)+c
(®) 0
(c) abc + xyz + pqr
(d) none of the above
1 a a®-be
1 b b*-aclisequalto:
1 ¢ c¢—-ab
(@ o M) a® + b® + ¢® -3abc
(c) 3abc @ (@+b+¢)?

. The system of equations 3x -2y + z =0,

Ax —14y + 152 =0,x + 2y — 32 =0 has a solution other than
x=y=z=0forAequalto:

(@1 ) 2
(© 3 (d 5

1 4 20
. The roots of the equation|1 -2 5 |[=0are:
1 2x 5x°
(@ -1-2 (b) -12
(© ,-2 d L2
1 S5 =
log,e 5 /5 |is equal to :
log,p10 5 e

(@ vn () e
© 1 @ao




6. If a=b=c, the value of x which satisfies the equation
0 x-a x-b

x+a O x—-c|=0is:
¥+b X+c 0
(@ x=0 (b) x=a
(© x=b @ x=c
1 o o
7. If ois the cube root of unity, then| ® o? 1 |isequalto:
o 1 o

@1 () 0
© o ) o?

2

8. The value of cos @ [ cos6 sin 6] +sin® [sin 0 —cos 0] =9
cosO sin@

i of s WG A s o fi ol ol

—sin@ cos@

. If the system of equations 2x + 3y + 5=0, x +ky + 5=0,
kx — 12y — 14 =0 be consistent, then value ofk is :

1
() _]’E

12
d) 6,——
(d) z

7 20 29
.IfA=|2 5 7 |andA'={2 S5 7

3 9 13 3 9 13

" _ ’—E
(a) A'=3A ®) a'=%

(0 A'=A @ A'=2A
a+b a+2b a+3b
. The value of determinant| a +2b a+3b a+4b|is:
a+4b a+5b a+6b
(@) a®+b* +c®*-3abc  (b) 3ab
(©) 3a+5b @o
b+c a a

. The value of determinant b c+a b [|is:
c c a+b

(@) abc (b) 2abc
(c) 3abc (d) 4abc




0o 1 -2
13. In the determinant| -1 O 3 |, the value of co-factor to

2 -3 0

its minor of the element — 3 is :

(@ -1 () 0

@1 @ 2

b+c a+b a
. The value of determinant| c+a b+c b|isequalto:

a+b c+a ¢

@@ a®+b>+c-3abc  (b) 2abc(a+ b+c)
© 0 (d) none of these

15. x +ky -2=0,3x —ky -z =0and x -3y + z =0has non-zero
solution for k is equal to :
(@ -1 ® o
@1 @ 2
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